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* Correct Answer 1s in Bold and slightly bigger
* Candidate selected option is Underlined

English Language

(2792654 Fill in the blanks with the most appropriate words.

Studentsarenot _ totalk ____in this library

Score Obtained : 1.0

A) aloud, aloud
B) aloud, allowed
CI allowed, aloud

D) allowed, allowed

Q2792690 Fill in the blank with the correct spelling from among the given options.

Her created an atmosphere of joy wherever she went.

Score Obtained ; 0,0

A) efferscent
B) effervescence
C) effervescience

D) eferrvescence

Q2792675 The pair of words given in capitalized letters is related in some way. From the options, choose the pair that exhibits the most similar relationship to
the given pair.

BEES : FLIT

Score Obtained : 1.0

A) dogs : waddle

BI butterflies : flutter
C) cats : wander

D) elephants : gallop

02790396 Read the following passage and answer the questions given below:

Karnataka is bestowed with seven critical river systems that are lifelines to the state—Godavari, Krishna, Cauvery, North Pennar, South Pennar, Palar and
all the west flowing rivers. Although many rivers flow to the west and join the Arabian Sea, they account for a meagre 12.73% of the water that drain in the
state. The majority, a whopping 87.27% of the drainage area, is a result of the six mighty east-flowing rivers. Why this stark imbalance, you wonder? There
is a bit of geological history to this, and the story starts with the history of the Western Ghats, where most of Karnataka's rivers originate

Over 180 million years ago (mya), all the present-day land mass, the seven major continents as we know them, was merged into a supercontinent called
the Gondwana land. Thanks to an extraordinary geological event, the massive landmass broke up into several pieces and one of them, the Peninsular
Indian plate, drifted northwards for about 100 million years. About 45 million years ago, it eventually hit the Asian plate resulting in the formation of the
Himalayan mountain range.

During this arduous journey, the drifting Peninsular Indian plate passed through the present-day Reunion Islands, which had a volcanic centre in the Earth's
lithosphere spread over 200-300 km. The volcano, which erupted throwing out basaltic magma, resulted in the uplift of what is now the Western Ghats and
tilted the Indian plate in the easterly direction. Thus, the Western Ghats are not actual ‘mountains’ but faulted edge of a raised plateau.

By the time the Peninsular Indian plate ended its northward drift and collided with the Asian mainland (between 45 million years and 65 million years), the
Western Ghats was already there with permanently cast the drainage patterns. Hence, although most rivers in Karnataka originate in the Western Ghats,
they eventually drain into the Bay of Bengal.
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Q2790397 What is the imbalance in Karnataka's river systems?

A) They support only southern states and some western states.
B) Some are fed by the Himalayas and the rest are fed by the Western Ghats.
C) They flow from the land towards the Arabian Ocean and the Indian Ocean.

D) Water flowing westward is very less compared to that flowing eastward.

Q2790400 Which of the following is not Karnataka's River system?

A) Godavari
B) Cauvery
C) Krishna

D ) Narmada

Q2790399 What caused the imbalance in the Karnataka river systems?

A)_The formation of the Western Ghats, its river systems and their eastward flow.
B) The Himalayas influence the southern region a lot, especially the rivers.

C) A slope in the land from the east to the west caused this kind of a flow.

D) An earthquake in the western coast resulted in the river systems.

Q2790401 Which of the following is the place of origin of most of the rivers in Karnataka?

A) The Himalayas
B) The Reunion Islands

C[ The Western Ghats

D) The Asian Plate

Q2790398 Which of the following was the supercontinent?

A) Asian Plate

BI Gondwana land
C) The Western Ghats
D) The Great Indian Peninsular land mass

2792669 Which suffix can be added to the word "honour” to make a new word?

A) ly
B) ible
C) ious

D) any

2792640 Identify the meaning of the highlighted idiom- The Last straw

A) Popular trend or activity
B) Crazy or demented
C) The final problem
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D) Counter argument

02791140 Who conducts the examinations for Indian Certificate of Secondary Education (ICSE) and Indian School certificate (ISC)?
Score Obtained : 1.0

A) Commission for Indian School Curriculum of Examinations
B) Council for International Service Certificate Examinations
g[ Council for Indian School Certificate Examinations

D) Committee for Indian Social Curriculum of Examinations

Q2791090 Identify the CORRECT phenomenon due to which the sky appears blue in colour.

Score Obtained : -0.25

A) Refraction of light
B) Reflection of light
C) scattering of light
D) Diffraction of light

2791133 The National Digital Library of India (NDL India) is pilot project to develop a framework of virtual repository of learning resources with a single-
window search facility in India. It is being developed at:

Score Obtained : 0.0

A) Indian Institute of Technology, Bombay
B) Indian Institute of Technology, Kanpur
C) Indian Institute of Technology, Indore

D) Indian Institute of Technology, Kharagpur

Q2790473 NITI Aayog's flagship 295 Atal Tinkering Labs (ATLs) established with an objective to inculcate scientific research and innovation culture among students, were
officially adopted by which of the following organizations in April 20217

Score Obtained : -0.25

A) Tata Institute of Fundamental Research
B) Indian Institute of Science, Bangalore

C) Council of Scientific and Industrial Research
D) Indian Institute of Science Education and Research

Q2791129 The Governor-General-in Council appointed a “General Committee of Public Instruction” in India in the year:
Score Obtained : -0.25

A) 1832

B) 1823

C) 1833
D) 1813

2791321 Out of 900000 books published by an author, only 54% of them got sold and 12% were gifted. Find the number of books left.
Score Obtained : 1.0

A) 306000
B) 122000
C) 528000
D) 104000

2791339 In a code language if "TIGER" is coded as 125, then how will "LION" be coded in the same code language?
Score Obtained : 0.0
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A) 96
B) 84
C) 64
D) 78

2792715 If South becomes South-West, then North-East becomes

Score Obtained : -0.25

A) North
B) East
C) West
D) South

Q2791356 Given below are 2 statements followed by 2 conclusions. Choose the conclusion/conclusions that follow(s) the given statements by selecting
the right option.

Statements:
I. All books are pens

1. No pen is rubber

Conclusions:
I. No book is rubber
II. All books are rubbers

Score Obtained : -0.25

A) Neither conclusion | nor conclusion Il follows

B) only conclusion | follows
C) Only conclusion Il follows
D) Both the conclusions | and Il follow

Q2792729 Given below a question followed by 2 statements numbered (1) and (Il). Choose the statement/statements required to answer the question by
selecting a relevant option.

Question: What day is sixteenth day of a given month?
Statements:

|.The last day of the month is Friday
11.The second Saturday of the month is tenth day

Score Obtained : 0.0

A) Statement (Il) ALONE is sufficient, but statement (I) alone is NOT sufficient

B) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient
C) Statements (1) and (Il) TOGETHER are NOT sufficient

D) Statement (I) ALONE is sufficient, but statement (Il) alone is NOT sufficient

2791173 The project strategy of teaching was developed by

Score Obtained : -0.25

A) Dewey
B) Skinner
C) Socrates

D) «ipatrick

2792774 Education in the broader sense apart from academics, literacy and professional training, includes

Score Obtained : 1.0
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A) Enterprise and money - skills

B) Rituals and socio-cultural practices
Q)_Self—culture and environmental influence
D) Fine arts and performing arts

(2791195 The "Big Five" factors are mostly related to

Score Obtained ; 0.0

A) attitude
B) personality
C) creativity

D) aptitude

2792757 Which of the following is true about students motivation to learn?

Score Obtained : -0.25

A) Should tap the intrinsic motivation to learn and be curious
B) Constant praise and reward helps student remain motivated
C) Praise and criticism should be in equal measure

D) Positive teacher mindset in the class

Q2792776 The two prominent words in Sanskrit that stand out as equivalents of the term ‘education are
Score Obtained : 1.0

A) Shiksha-to understand
Vidya-to implement

B) Shiksha-to control
Vidya-to search

C ) Shiksha- to discipline

Vidhya-to know

D) Shiksha-to enforce
Vidhya-to explore

Q2791189 Which agency takes care of writing text books for school students?
Score Obtained : 1.0

A) NCTE
B) CBSE

! 1 I NCERT

D) uGc

2792812 The First-Letter Method used in WAJMMA to remember the names of first six US presidents (Washington, Adams, Jefferson, Madison, Monroe and Adams) is an
example of

Score Obtained : 0.0

A) Elaboration
B) Inference
C) Mnemonics
D) Coding

(02792806 A child fails miserably in one of his algebra tests and is devastated. The next time he approaches an algebra test he experiences anxiety. This is due to the child's

Score Obtained : -0.25
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A) Knowledge application
B) Generalisation

C) Higher order thinking
D) Analysis

02792766 Children’s behaviour in the classroom is determined by several kinds of reasoning as per Nancy Eisenberg. Which of the following behaviours exhibits the ‘approval-
oriented’ reasoning?

Score Obtained : 0.0

A) Considering how teachers would respond to her action
B) Expectation fo fun in the party

C) Assessment of need for help in the situation

D) Considering the most decent thing to do

(02791190 Right to Education came into effect on

Score Obtained - -0.25

A) April 10, 2010
B) April 1, 2001
C) May 1, 2001

D) Aprit, 2010

02791569 Identify the sentence which is correctly punctuated:

Score Obtained : 1.0

AI Many years have passed, since, he wrote to me.
B) many years have passed since he wrote to me
C) many years, have passed, since he wrote to me.

D) Many years have passed since he wrote to me.

Q2791574 Fill in the blanks with the correct option:

The players for Canada next week.

Score Obtained - -0.25

A) will leave
B) leaves

C) has left
D) left

Q2791474 Read the following passage and answer the questions based on the information provided in the passage.

Education planning should aim at meeting the educational needs of the entire population of all age groups. While the traditional structure of education as a
three-layer hierarchy from the primary stage to the university represents the core, we shouldn't overlook the periphery which is equally important under
modern conditions. Workers need to rewind or renew their enthusiasm or strike out in a new direction or improve their skills as much as any university
professor. The retired and the aged have their needs as well. Educational planning, in their words, should take care of everyone's needs. Our structure of
education has been built up on the assumption that there is a terminal point to education. This basic defect has become all the more harmful, today. A
UNESCO report entitled "Learning to be" prepared by Edgar Faure and others in 1973 asserts that the education of children must prepare the future adults
for various forms of self- learning. A viable education system of the future should consist of modules with different kinds of functions serving a diversity of
constituents. And period of study shouldn't be the basis for credentials. Performance should be the basis for credentials. The writing is already on the wall.

02791475 According to the passage, the present education structure assumes which of the following?

Score Obtained : -0.25

A) All people can be educated as per needs of the individual

B) Education is a one- time process
C) Present educational planning is very practical
D) Discussion on life-long learning should continue for some more time
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Q2791478 In the context of the passage, what is the meaning of "The writing is already on the wall"?

A) Changes have already taken place
B) Itis altogether a mysterious process

C) The signs of change are already visible
D) Everything, now-a-days, is uncertain

Q2791477 According to the author, what should be the basis for awarding credentials?

A) Skill or capacity to grasp

B) Diversity of the topics covered

C) Duration of the course

D) Participation in community activities

02791479 What is the main thrust of the author?

A) There is no substitute for the extant system of education
B) Traditional systems should be strengthened

C) One should never cease to learn
D) Formal education is more important than non-formal

Q2791476 According to the author, educational planning must attempt to

A) Encourage conventional schools and colleges
B) Decide a terminal point to education
C) Train the people at the core

D ) _Fulfil the educational needs of everyone

Q2791515 Choose the correct synonym of the underlined word :

There was an air of expectation and great curiosity.

A) Vividness

B) Inquisitiveness
C) Focus

D) Silence

2791567 Identify the sentence which is correctly punctuated:

A) "Sorry | am late,” said Meera.
B) "Sorry | am late,said Meera".
C) Sorry, | am late, said Meera

D) sorry | am late said Meera

2791575 Fill in the blanks with the correct option:

Fortune the brave.
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A) favours

B) favour
C) are favouring

D) favouring

Q2791510 Choose the correct synonym of the underlined word :

Your handwriting is so untidy that | can't read it.

A) Legible
B) Clean
C) Neat

D) Messy

2791525 Which of the following options is an Antonym of ‘Intelligent'?

A) Foolish
B) Sly

C) Wise

D) Frugal

Q2791579 Fill in the blanks with the correct option:

He leave if he __ his work on time.

A) will get, finishes
B) gets, finish

C) will get, had finished
D) get, finished

Q2791588 Change the following affirmative sentence into negative sentence:

He turned every stone.

A) No stone unturned he left.
B) No stone he unturned left.
C) Left no stone he unturned.

D) He left no stone unturned.

2791512 Choose the correct synonym of the underlined word :

He emanates power and confidence.

A) Expects
B) Follows
C) Radiates
D) Shows
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A) QAMIRa
B) eeYqes
Q) Qq

D) W
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A) «@Qee

B) 6wdq @le

C) o9l g@e Qg
D) QI9l NISAIY §16

44 9187 €2 FaQI0KR 6L 83 6L ?

Score Obta

A) gl
B) %@°
) 2R

D) S

Q2791383 6B 96 Q 8 €1 Qdl] Q¢ QRIAN?

Score Obta

A) age@al
B) 2a89

©) ag

D) 2I6AISISIL

6RUS QARIFIe QS|
Q2791397 b

Score Obta

A) Qe ardal

B) Greal gEal
) TEeRcel

D) Qe QIEQI

Q2792074 Which of the following acts was introduced by the colonial government with an objective, to introduce self-governing institutions gradually in British India?

Score Obta

A) Negotiable Instruments Act
B) Prevention of Seditious Meetings Act
C) The Pitt's India Act

DI Montague-Chelmsford Reforms Act

Q2792155 Concept of ‘Welfare State’ is included in which part of the Constitution of India?

Score Obtain

A) Preamble of the Constitution

B) The Fundamental Rights

C) The Fundamental Duties

D) The Directive principles of State Policy

Q2792036 Who wrote "The Social Contract”, the work which inspired the principles of French Revolution?

Score Obta

A) Marquis de Lafayette

B) Jean Jacques Rousseau
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C) Maximilien Robespierre
D) Georges Danton

Q2792114 Swami Sahajanand founded the Swami Narayan Sect in which of the following states of India?

Score Obtained : -0.25

A) Gujarat

B) Himachal Pradesh
C) Tamil Nadu

D) Kerala

2792057 Which of the following alliances is INCORRECT?
Score Obtained : 0.0

A) Entente Cordiale: Between England and France

B) Dual Alliance: Between France and Russia

C) Dual Entente: Between Germany and France

D) Re-Insurance treaty: Between Germany and Russia

(2792081 Lord Mayo was the only Governor-General who was killed in India by Sher Ali Afridi in Port Blair. The tenure during which he served as the Viceroy of India was

Score Obtained : 0.0

A) 1884 - 1888
B) 1876 - 1880
C) 1862 - 1863

D) 1869-1872

Q2792019 Among which of the following reasons the llbert Bill was withdrawn in 18837

Score Obtained : 0.0

A) As it supported Indians the right to freedom of speech
B) As it allowed Indians to try Europeans in court

C) As it allowed Indians to carry firearms

D) As it permitted Indians in high ranks in administration

(2792103 The holy book 'Bhagavad Gita' was translated into English by

Score Obtained : -0.25

A) George Barlow
B) Swami Vivekananda

() Srinivasa Ramanujan

D) Charles Wilkins

02792102 Read the following statements and choose the CORRECT option about the religious leader Ramakrishna Paramahamsa of the 19th century.

(i) Ramakrishna Paramahamsa was born on 18 February 1836, in the Chittoor district of Andhra Pradesh.
(i) He is popularly known as the saint of Dakshineshwar.

Score Obtained : -0.25

A) (i) is FALSE and (ii) is FALSE
B) (i) is TRUE and (i) is FALSE
Q) (i) is TRUE and (ii) is TRUE
D) (i) is FALSE and (ii) is TRUE

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Q2792105 The Theosophical Society, that promoted the study of ancient Hindu, Buddhist and Zoroastrian philosophies was established in India in the year 1882 with
headquarters at which of the following places?

Score Obtain

A) Ajmer
B) Bombay
C) Surat
D) Madras

Q2792066 In which of the following years, the Treaty Of Lahore was signed between the Sikhs of India and the British?

Score Obta
A) 1864
B) 1846
C) 1731
D) 1842
2792067 The first Indian to succeed in the Civil Services Examination held in London during British rule in India was
Score Obta

A) Kalpana Dutt

B) satyendranath Tagore
C) Raja Radhakanta
D) Jatin Das

(02792181 Provisions as to the Judges of the Supreme Court and of the High Courts, is mentioned in which schedule of the Indian Constitution?

Score Obtain

A) First Schedule

B) Third Schedule

C) Second Schedule
D) Fouth Schedule

Q2792028 The Cripps Mission to India failed in 1942 as the Congress wanted the Viceroy of India to appoint an Indian as the

Score Obta

A) Finance Minister of his Executive Council

B) Defence Minister

C) Home Minister

D) External Affairs Minister of his Executive Council

Q2792011 In which session of the Congress was 'Purna Swaraj' demanded?

Score Obta

A) Calcutta session
B) Bombay session
C) Karachi session

D) Lahore session

(02792138 Which of the following is the most essential feature of the Parliamentary form of Government?
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A) Sovereignty of the Parliament

B) Written Constitution

C) Accountability of the executive to the Legislature
D) Independent Judiciary

Q2792046 Which of the following is INCORRECTLY matched?
Score Obtained : 0.0

A) The Treaty of Versailles - Germany
B) The Trianon Treaty - Hungary

C) The Neuilly Treaty - Italy

D) The Sevres Treaty - Turkey

2792147 On which principle does the Presidential form of Government run?

Score Obtained : 0.0

A) Centralisation of powers

B) Balance of powers

C) Separation of powers

D) Division of powers between centre and states

Q2792163 The salary and allowance of the Speaker of the State Legislative Assembly are decided by-
Score Obtained : 0.0

A) Chief Justice of India

B) Prime Minister of India

C) Legislature of the State

D) Comptroller and Auditor General of India

2792171 Among the following who shall cause every recommendation made by the Finance commission to be laid before each House of Parliament, as per Indian
Constitution?

Score Obtained : 1.0

A) The Speaker of Lok Sabha
B) The Prime Minister of India
C) The Union Finance Minister

D ) The President of India

2792592 Chipko movement was a movement against the conservation of forest in 1973. In 1985, Narmada Bachao Andolan was started against the construction of a huge
dam and rehabilitated the tribal people. Do you think it was fair for the government to simply uproot these people out of their lives and homes without compensating for it?

Score Obtained : -0.25

A) Yes, the government has to focus only on the development of the country
B) No, the government should provide them resettlement and livelihood

) No, the government should not do deforestation and construct a dam to block the river flow
D) Yes, the government has the power to do so

Q2792573 Due to the lack of vegetation cover, the rain instead of sinking into the ground washes the soil down slope and each succeeding rain-storm washes away a thin
layer of top soil is called the

Score Obtained : 1.0

A) Slip erosion
B) Share erosion
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C) Top erosion

D ) Sheet erosion

2792565 Consider the following statements regarding Smart Cities.

1. The Smart Cities Mission is for a pericd of 10 years
2. Cities are selected for inclusion on the basis of competition
3. Basis of selection will be the level of infrastructural development of the city

4. Implementation will be by a private company formed as the Special Purpose Vehicle

Select the CORRECT answer from the codes given below:

A) 1,2,3,4
B) 1,2,3
C) 2,4
D) 2,3,4

2791612 Since 1955 the national income estimates are prepared by

A) Ministry of Finance

B) Central Statistical Organization
C) Reserve Bank of India
D) Planning Commission

2792557 Which among the following justifies for providing subsidy of merit goods?

A) The benefits go to the individual but the costs are borne by the charitable trusts
B) The enjoyment of these goods by one is not at the expense of similar enjoyment by another

C) These goods benefit not only the individual but also the society at large
D) The distribution of these goods are determined solely by the merit of the recipient

Q2791610 As per India's Trade 2017 data by World bank, which of the following is the largest export partner of India?

A) China

B[ United States of America
C) Japan

D) Singapore

2792583 What is meant by 'reserved' forest?

A) For the use of tribal people as per their rituals

ﬁLFor commercial exploitation with restrictions on grazing
() Exclusively for grazing by members of parliament

D) Reserved for hunting by foreign tourists

(2792539 Why does Sweden exports most of its iron-ore?
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A) Specialises in mica product
B) Lack of limestone reserves
C) Lack of coal reserves

D) Lack of human resources

2792394 Where is the Coromandel coastal plain present?

A) Andhra Pradesh region
B) Karnataka region
C) Kerala region

D) Tamil Nadu region

2792521 Which among the following state is the leading producer of bauxite in India during 20177

A) Odisha

B) Jharkhand
C) Rajasthan
D) Kerala

Q2792547 Which of the following pairs is an INCORRECT match?

A) Medium economic and human development - West Bengal
B) High human development and low economic development - Kerala
C) High economic development and poor human development - Rajasthan

D) Poor economic and human development - Tamil Nadu

(2792383 What happens if we start calculating time from Greenwich Mean Time and move eastward?

A) Time will be fixed

B) Every 15 degree, 1 hour time ahead
C) Every 15 degree, 1 hour time behind
D) Every standard meridian time will be same

Q2792401 Observe the map given below and identify the reason how do the marked mountain differ from each other?

-

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

A) The Himalayan Mountain is a fault mountain range and Aravalli is a folded mountain range
B) The Himalayan Mountain is a new folded mountain range and Aravalli is an old folded mountain range

C) The Himalayan Mountains are colder than the Aravallis
D) The Himalaya and Aravalli are the volcanic mountains

2792374 In how many Standard Time Zones has the world been divided into?

A) 26
B) 32

C) 24

D) 20

Q2792529 Assertion (A): In the Savanna region, trees grow best towards the equatorial humid latitudes or along the bank.

Reason (R): Height of the trees decrease and density also reduce from the equator towards the pole.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)
ﬁ)_Both (A) and (R) are true and (R) is not the correct explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true
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